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ICT activities with answers/ QCM/True and False
statements

Context : small overview

Sequence 1: ICT for Business

This document highlights the transformative impact of Information and Communication
Technology (ICT) on business. It emphasizes how ICT drives cost savings, enhances
efficiency, and fosters innovation within companies. Key aspects include automation of
routine tasks, resource optimization through data-driven insights, cloud computing benefits
such as reduced infrastructure costs, and improved scalability. It also discusses the crucial
role of ICT in supply chain management and enhancing communication and collaboration
across geographical boundaries. Furthermore, it delves into opportunities and innovations
facilitated by ICT, such as global connectivity, e-commerce, data analytics, Al, and
cybersecurity solutions, positioning ICT as a catalyst for unlocking new business models
and expanding markets.

Sequence 2: ICT versus IT

This document delineates the differences between Information and Communication
Technology (ICT) and Information Technology (IT), providing a clear distinction and exploring
the broader scope of ICT over IT. It explains that while IT focuses primarily on hardware,
software, and networking for managing information, ICT encompasses these elements and
extends into communication technologies integrating email, video conferencing, and other
digital communications tools. The narrative discusses emerging patterns in ICT, the
evolution of IT into a complex domain that supports vast organizational and personal
computing needs, and the various components of IT including the crucial roles of CPUs,
storage devices, and networking equipment.

Sequence 3: ICT and Digital Divide

This document explores the significant impact of ICT on bridging the digital divide, focusing
on disparities in ICT access among different populations and geographic areas. It examines
the transformative effects of ICT on work, communication, learning, and daily life while
discussing the barriers that prevent equal access to technology. Key topics include the
infrastructural and educational disparities that contribute to the digital divide, the role of
policy in technology deployment, and the importance of digital literacy. The document also
addresses how ICT can lead to greater inclusion and equity, emphasizing the need for
targeted interventions and policies to ensure broad and equitable access to technology.

Combined Summary

The three documents collectively provide a comprehensive overview of the expansive role
of ICT in modern business and society. They outline how ICT not only improves business
operations through efficiency and innovation but also serves as a vital tool in addressing
societal challenges such as the digital divide. Through detailed discussions on the
distinction between ICT and IT, the capabilities of various ICT components, and the strategies
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to overcome access disparities, these texts underline the essential nature of ICT in driving
economic, educational, and social advancements. The themes converge on the critical
importance of integrating and adapting to ICT for future growth, competitiveness, and
inclusivity in a rapidly evolving digital landscape.

Sequence 1: ICT for Business

1. What is one primary effect of ICT on businesses?
e A) Decreasing employee satisfaction
e B) Increasing production costs
e C) Reducing infrastructure costs
e D) Limiting operational flexibility

e Answer: C - ICT helps reduce infrastructure costs by transitioning to cloud-
based services.

2. How does ICT contribute to data-driven decision making in businesses?
e A) By reducing data availability
e B) By providing valuable insights through Big Data analysis
e C) By limiting access to real-time data
e D) By decreasing communication among employees

e Answer: B - ICT enables the collection and analysis of Big Data, providing
insights for informed decision-making.

Sequence 2: ICT versus IT
3. What is the primary distinction between IT and ICT?
e A) IT includes communication technologies, whereas ICT does not.
e B) IT primarily deals with hardware, while ICT focuses on software.
e C)ICTincludes both IT and communication technologies.
e D)ICTis a subset of IT.

e Answer: C - ICT incorporates IT and adds communication technologies,
having a broader scope.

4. Which component is critical in IT for performing arithmetic and logic operations?
e A) Software
e B) Hardware
e C) Networking
e D)CPU
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Answer: D - The CPU performs arithmetic and logic operations necessary for
program execution.

Sequence 3: ICT and Digital Divide

5. What is a major contributor to the digital divide according to the text?

A) High costs of digital literacy programs

B) Access disparities, including infrastructure and geographical issues
C) Overabundance of ICT professionals

D) Lack of interest in technology among rural populations

Answer: B - Access disparities, especially in infrastructure and geographical
locations, contribute significantly to the digital divide.

6. Which technology is noted for improving digital document management?

A) Cloud computing

B) E-commerce

C) Robotic Process Automation (RPA)
D) Virtual Private Networks (VPNs)

Answer: A - Cloud computing helps improve digital document management
by enhancing accessibility and workflow organization.

| will now proceed to create more questions from the other contents of the provided
documents. This might take a moment.

Here are more multiple-choice questions based on the content from the provided

documents:

Sequence 1: ICT for Business (continued)

7. What role does ICT play in supply chain management?

A) Decreases transparency in inventory levels

B) Prevents real-time monitoring of supply chains

C) Optimizes supply chain efficiency through real-time data
D) Increases costs due to technological upgrades

Answer: C - ICT enables real-time monitoring and optimization of supply
chains, ensuring efficient inventory levels.

8. How does ICT aid in cost savings for businesses?

A) By increasing the need for manual labor
B) By automating routine processes

C) By discouraging the use of cloud computing
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D) By eliminating data-driven decisions

Answer: B - Automation through ICT reduces manual efforts and errors,
helping in cost savings.

Sequence 2: ICT versus IT (continued)

9. What is a primary function of software in IT?

A) Facilitating manual record-keeping
B) Decreasing data storage capacities
C) Enabling computers to perform specific tasks
D) Preventing users from accessing the internet

Answer: C - Software comprises programs that enable computers to perform
specific tasks.

10. Which device is an example of IT hardware?

A) Training manuals

B) Employee guidelines

C) Dell XPS 13 Laptop

D) Customer feedback forms

Answer: C - The Dell XPS 13 Laptop includes essential hardware components
like CPU and memory.

Sequence 3: ICT and Digital Divide (continued)

1. Which factor is critical in addressing individual-level disparities in ICT access?

A) Decreasing the availability of smartphones
B) Enhancing digital literacy through education
C) Limiting internet connectivity

D) Promoting manual data processing methods

Answer: B - Enhancing digital literacy through education is crucial to address
individual-level disparities in ICT access.

12. What is a challenge in bridging the digital divide in rural areas?

A) Over-implementation of advanced ICT infrastructures
B) High-speed internet access and infrastructure

C) Excessive availability of digital training programs

D) High enthusiasm for adopting new technologies

Answer: B - Rural areas struggle with accessing high-speed internet,
deepening the urban-rural digital gap.
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Sequence 1: ICT for Business (continued)

13. What advantage does cloud computing offer to businesses?

A) Decreased accessibility

B) Higher infrastructure costs
C) Improved scalability

D) Limited collaboration

Answer: C - Cloud computing offers improved scalability along with reducing
infrastructure costs.

14. How does ICT enhance communication within businesses?

A) By limiting the channels of communication

B) By reducing the frequency of interactions

C) By enhancing real-time communication and collaboration
D) By discouraging remote working

Answer: C - ICT tools enhance real-time communication, fostering
collaboration across geographies.

Sequence 2: ICT versus IT (continued)

15. What is the significance of networking in IT?

A) It disconnects various computer systems

B) It prevents data sharing between devices

C) It facilitates communication and resource sharing
D) It restricts internet access

Answer: C - Networking involves connecting computers and devices to
facilitate communication and resource sharing.

16. In the context of IT, what role does a CPU play?

A) It decreases the processing speed of tasks

B) It acts as the brain of the computer, executing instructions
C) It is used only for data storage

D) It exclusively handles external communications

Answer: B - The CPU, or central processing unit, executes instructions and is
considered the brain of the computer.

Sequence 3: ICT and Digital Divide (continued)
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17. What impact does ICT have on global connectivity for businesses?
e A) It restricts access to international markets
e B) It enables businesses to engage globally
e C) It decreases the variety of communication tools
e D) It promotes isolationism in business practices

¢ Answer: B - ICT bridges geographical gaps, enabling businesses to engage
globally with partners and clients.

18. Which technology is noted for its role in enhancing customer service through ICT?
e A) Typewriters
e B) Fax machines
¢ C) Chatbots and virtual assistants
e D) Traditional mailing systems

e Answer: C - ICT tools like chatbots and virtual assistants improve customer
service by providing instant support.

TRUE/FALSE statements

the 30 true or false statements separated from their answers, followed by a section listing
all the answers:

True or False Statements

1. ICT can reduce manual efforts and errors through automation.
Cloud computing increases infrastructure costs for businesses.
ICT limits communication and collaboration within businesses.

Data-driven decision making is enhanced by the use of Big Data in ICT.

g W N

Real-time monitoring of supply chains through ICT leads to inefficient inventory
levels.

6. ICT-driven innovations include artificial intelligence and blockchain technology.
7. ICT excludes communication technologies in its applications.

8. The integration of ICT in businesses does not affect competitiveness.

9. Mobile technologies have expanded opportunities for consumer engagement.
10. ICT has no role in predictive analytics for business decision-making.

1. ICT is a subset of IT.

12. Hardware is a crucial component of IT infrastructure.

13. Networking does not involve the interconnection of computers and devices.
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14. The CPU executes instructions and is the brain of the computer.

15. Software in IT does not enable specific tasks to be performed by computers.
16. IT primarily deals with information storage, processing, and dissemination.
17. Digital communication technologies are outside the scope of ICT.

18. ICT and IT are exactly the same with no distinct differences.

19. Unified Communications integrates various communication tools into a single
platform.

20. The Internet of Things is unrelated to ICT.

21. The digital divide does not affect access to ICT based on geographical locations.
22. Digital literacy enhances the ability to engage effectively with ICT.

23. ICT accessibility is equally distributed among urban and rural areas.

24, Cultural factors have no impact on the adoption of ICT.

25. Affordable device accessibility contributes to bridging the digital divide.

26. Energy access is not a factor in ICT deployment in rural areas.

27. Personalized marketing strategies are made possible through data analytics in ICT.
28. E-commerce integration does not benefit from ICT.

29. Cybersecurity is a growing necessity as businesses digitize their operations.
30. Regulatory compliance in ICT is unrelated to data security measures.

Answers to the True or False Statements

1. True
2. False
3. False
4. True
5. False
6. True
7. False
8. False
9. True
10. False
1. False

12. True
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Instructions: Match the concept from Column A with the correct description or implication

from Column B.

Column A

Al. Cloud Computing

A2.ICT and Global Connectivity
A3. Blockchain Technology

A4. Cybersecurity in ICT

A5. Mobile Technologies

Ab. Big Data in Decision Making
A7. Digital Divide

A8. Artificial Intelligence (Al) in Business
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A9. E-commerce

A10. ICT Automation

Column B

B1. Provides businesses with the infrastructure to operate without heavy investments in
physical hardware, improving scalability.

B2. Allows organizations to analyze large datasets to identify trends, make predictions, and
enhance strategic decisions.

B3. Facilitates buying and selling goods and services through electronic channels,
expanding market reach.

B4. Ensures the safety of digital transactions and protects data against unauthorized access
and cyber threats.

B5. Reduces manual labor in processes, increases efficiency, and minimizes errors through
technology like RPA.

Bé6. Bridging this involves addressing disparities in access to technology based on
geographic, economic, and social factors.

B7. Enhances personalized customer experiences through predictive analytics and
customer service automation.

B8. Enables companies to interact seamlessly with international partners and markets,
promoting a global business landscape.

B9. Utilizes decentralized and secure methods to ensure transparency and integrity in
transactions and data exchanges.

B10. Expands customer engagement opportunities through apps and location-based
services, adapting to user preferences and behaviors.

Answers

Al matches B1: Cloud Computing — Provides businesses with the infrastructure to operate
without heavy investments in physical hardware, improving scalability.

A2 matches B8: ICT and Global Connectivity — Enables companies to interact seamlessly
with international partners and markets, promoting a global business landscape.

A3 matches B9: Blockchain Technology — Utilizes decentralized and secure methods to
ensure transparency and integrity in transactions and data exchanges.

A4 matches B4: Cybersecurity in ICT — Ensures the safety of digital transactions and
protects data against unauthorized access and cyber threats.

A5 matches B10: Mobile Technologies — Expands customer engagement opportunities
through apps and location-based services, adapting to user preferences and behaviors.
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A6 matches B2: Big Data in Decision Making — Allows organizations to analyze large
datasets to identify trends, make predictions, and enhance strategic decisions.

A7 matches Bé6: Digital Divide — Bridging this involves addressing disparities in access to
technology based on geographic, economic, and social factors.

A8 matches B7: Artificial Intelligence (Al) in Business — Enhances personalized customer
experiences through predictive analytics and customer service automation.

A9 matches B3: E-commerce — Facilitates buying and selling goods and services through
electronic channels, expanding market reach.

A10 matches B5: ICT Automation — Reduces manual labor in processes, increases
efficiency, and minimizes errors through technology like RPA.



